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2., Short-Answer Questions (25 points): Answer only five of the Ll _

following questions. Answer the first two questions (ie, question 1 and li
question 2} and any three of the remaining questions. State whether they !
are True, False, or Uncertain. Explain why using any appropriate x
diagrams, cqualions, empirical results, or stylized facts. Be sure to stale I;:
all pertinent assumptions you are making, Each question 13 worth five Py
ponls. B

1. Whether the money supply in the Keynes system is exogenously or endogenously
determined 15 mnbiguous.

7 According to Milton Friedman, the measure of economio science is nol reality of
assumplions but accuracy of predictions.

3. Ahigher interest rate will induce a higher velocity of money.

4. Tor given private saving and investment, the larger the budget deficit, the larger
the trade deficit.

5 The rcal business cycle (RBC) theory argues that changes in money supply do not
cause major changes i oukput,

6. According to endogenous growth theory, nations with a high savings mate would -

experience a high long-term growth rate

7. Hyman Minsky's “financial instability hypothesis” (FIIT) states that investment 18
the source of the fluetuations of the economy.,

8. The marginal propensity to consume out of permancnt income s greater than the
marginal propensity to consume oul of transitory income.

2 Problems (10 points): Answer only onme of the following
questions. Show all your work and the formula you uscd 1o arrive at your

Answer,

1. Youare given the following simple Keynesian model of an open coonomy.
C=65+07F
I=125
G =65
X =85
M =30 02Y
(a} In equilibrium, does this economy experience a trade surplus of a trade deficit? (3

points)
{b) If investment falls o [ =95, what is the frude halance of this ceonomy? (5

points}
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2, (An Endogenous Growth Mulel) Consider an economy whose production function |_;'_|
is (3= Ko[ALY™", with A =4(K { L} Assume that it has a savings rate ul' 0.2, a ok
population prowth rate of 0.1, an average depreciation mate of 0.1, and that .
G mt.5, . ¥
() Reduce the prcuction function to the form g =k [MNote g={NL and i
E=K/{L ]Whatis a?(5 powmis) il

{b) What is the growth rate of outpud? (5 points)

x., - Essay Questions (15 points): Answer only one of the following
questions.

[, (Disgrammatically answer this question} Suppose that the discovery of large oil
deposits have substantially increased the world supply of oil (or eneigy in general),
As o result, the relotive price of cncrgy lalls, Further assume that energy aod labor
are complements in production. Use the classical model to demonstrate the impact
of this change in il supply on (he following variables, Be sure to state afl relevant

gssumpLions, - T L

a price level b real output & employment  d, real wage e numinal wage

9 Consider the following fixed price Keynesian model,

Y = CfF -1+ 1A+ 6
al
:"% = L{¥.ra )

M =M

Cploulate the effect of an increase im HMes On neone.



